ASSEMBLY INSTRUCTION

1.- 1 PC.

2.-1PC.

U

3.-1PC.

!

4.-1PC.

—

“15.- 1 PC.

<

A. M6 x 40- 2 PCS.

s

B. M6 x 13- 4 PCS.
=]

IC. M4 x 45- 4 PCS.
.

D. M4- 1 PC.

E

2

(/1)




\"-‘ rog

ASSEMBLY INSTRUCTION

1. -1PC.

2. -2 PCS.

|

ﬂ‘

3. -4PCS.

4, -2 PCS.

A.M6 x 58 - 8 PCS.

B. M6 x 20 -~ 4 PCS.

an




